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01. I thanked god for ___ my life's ambition.
A. fulfill B. fulfilled C. fulfilling D. will fulfill Ans. C
Exp: Preposition @3 verb ST Si7 3t ing 3% 2 Gerund Fcs &7 | 12 310 67 C.

02. Brojen Das felt ___ after the rest at Cap Griz Nez hotel.
A. anxious B. on top of the world C. sea sick D. frustrated Ans. B
Exp: Textbook @3 “Youthful Achievers'- Unit @s Brojen Das @ Passage (¢ ¢l |

03. I will wait a while. Here the word "while" is a/an-



04.

05.

06.

07.

08.

09.

10.

11.

12.

A. noun B. verb C. advenb D. conjunction Ans. A
Exp: while = 73 «af5 S8 s7iczd #Ifsirel @RI 2= o noun. «=ier article «a»& @5 word =T
©T houn.

Dreamsare ___ elusive.

A. always B. sometimes C. no time D. never. Ans. B
Exp: Textbook @« 'Dream’ unit ¢t ¢ |

The word ""Gaudy’ means-

A. Tasteful B. cheap and showy C. Expensive D. None Ans. B
Exp: Goudy -extravagantly bright on showy, typically 50 as to be tasteless.

Choose the correct passive sentence:

A. The meeting is to be reschedule. B. The meeting is to be rescheduled.

C. The meeting is to recheduled. D. The meeting to be rescheduled  Ans. B
Exp: a) Passive voice- @ verb @7 Past Participle 3¢, 12 A & |

b) «ft 75 |

c) to be-verb w8, ©I% & |

d) is T, oI & |

Take one to task' means.

A. resume B. imitate C. restraint D. rebuke Ans. D

Exp: 'Take one to task' «af5 phrase 3= =< =T foz=im w1, Sl 340 | rebuke wds fozsm w1 |
resume SR &F F41, imitate o1 Sae F47 @2 restraint =i R |

Two-thirds of the work _ finished.

A. have been B. have C. will have D. was Ans. D
Exp: Fraction 31 sgre*= =it subject singular =T verb ¢ singular =1 | @31t @< a, b ¢ ¢ plural
form « =itz | ©12 7 Tew D =i was 71 singular verb.

I'm thinking of __ a house.

A. to buy B. buy C. buying D.to buying Ans.C
Exp: 3= verb phrases «3 #7&ef verb @3 3t ing I =70 | T2 approve of, be used to, become
used to, get used to, do not mind, look forward to, can't help, insist on with a view to, would

you mind.
He is fond of playing cricket.
A. noun clause B. gerund C. participle D. verb phrase Ans. B

Exp: verb @3 3t ing I& T noun &3 F& 61 ©f gerund | gerund 367 verb «< subject, verb @x
object, preposition @3 object f&@= | @2t playing - preposition of «& object | ©12 %5+ Tex B.

I am very jealous ____ him.

A.to B. of C. about D.in Ans. of
Exp: jealous of &1l <41 (appropriate preposition)

Make it indirect - He said, "'l can chop some wood today."

A. He said that he could chop some wood today. B. He said that he could chop some wood that
day.



C. He said he can crop some wood that day. D. None of the above Ans. B
Exp: 1) Invented comma €t fiex that 373 |
2) etx =15 Present indefinite =eam indirect speech-past =63, =i=fe can @3 2= could 13 |
3) today 2= indirect @ that day =% | ©12 #f5% B B.

13. "Gazing Grain' is an example of-
A. Alliteration B. Metaphor C. Oxymorn D. Irony Ans. A
Exp: Alliteration-repetition of same consonant sound.
Metaphors - as =T like 5= 71 %53 7f6 ST & e oo |
Oxymoron - 95 A= fre *twa A=/ S<g |
Irony- &=, T =1 =7 ©F [718rs (@RI =7 |

14. One of the historical____ of Sonargaon is the ancient city of Panam.
A. landmark B. landmarks C. landmarking D. landmarked Ans. B
Exp: One of the «a= subject plural =2 ¢ verb singular =71 | ©12 5% &7 B.

15. l asked him
A. what his name is B. what is his name  C. what was his name D. what his hame was

Ans. D

Exp; Embedded Question @ wh word- @< «its =e*l =71 subject + verb + ext.
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